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Four Digit plus Four Digit Addition

Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

9,272 + 5,962 =

6,871+ 2,327 =

9,383 + 7,034 =

7,745+ 7,011 =

5,578 + 5,016 =

7,859 + 5,708 =

6,315 + 5,274 =

9,402 + 4,872 =

8,650 + 7,046 =

4,400 + 1,051 =

6,849 + 6,841 =

4,560 + 3,213 =

8,123 + 1,538 =

8,103 + 3,385 =

6,738 + 1,703 =

8,626 + 4,745 =

6,921 + 2,319 =

3,336 + 2,690 =

8,176 + 1,381 =

7,029 + 2,790 =

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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Solve each problem.

9,272 + 5,962 =

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

6,871+ 2,327 =

9,383 + 7,034 =

7,745+ 7,011 =

5,578 + 5,016 =

7,859 + 5,708 =

6,315 + 5,274 =

9,402 + 4,872 =

8,650 + 7,046 =

4,400 + 1,051 =

6,849 + 6,841 =

4,560 + 3,213 =

8,123 + 1,538 =

8,103 + 3,385 =

6,738 + 1,703 =

8,626 + 4,745 =

6,921 + 2,319 =

3,336 + 2,690 =

8,176 + 1,381 =

7,029 + 2,790 =

Math

Four Digit plus Four Digit Addition Name. Answer Key
Answers
15,234
1 15,234
9,198
2. 9,198
16,417
3, 16,417
14,756
4 14,756
10,594
5, 10,594
13,567
6. 13,567
11,589
7. 11,589
14,274
8, 14,274
15,696
9. 15,696
5451
0. 9451
13,690
1. 13,690
7,773
12. 7,773
9,661
13, 9,661
11,488
14 11,488
8,441
15, 8,441
13,371
6. 13,371
9,240
7. 9,240
6,026
18. 6,026
9,557
19. 9,557
9,819
0. 9819
1-10 [95[90[85[80[75] 70] 65] 60 55| 50
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ﬂé Four Digit plus Four Digit Addition Name:

Solve each problem.

7

9,198 10,594 14,274 13,567
9,661 13,371 15,234 7,773
8,441 13,690 16,417 5,451
15,696 11,488 14,756 11,589

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

9,272 + 5,962 =

6,871+ 2,327 =

9,383 + 7,034 =

7,745+ 7,011 =

5,578 + 5,016 =

7,859 + 5,708 =

6,315 + 5,274 =

9,402 + 4,872 =

8,650 + 7,046 =

4,400 + 1,051 =

6,849 + 6,841 =

4,560 + 3,213 =

8,123 + 1,538 =

8,103 + 3,385 =

6,738 + 1,703 =

8,626 + 4,745 =

10.

11

12.

13.

14.

15.

16.

Answers
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